

**MATH 19 PRACTICE MIDTERM II**  
**FALL 2016**  
**BROWN UNIVERSITY**  
**SAMUEL S. WATSON**

**1** Find the general solution of the differential equation

$$f'(x) + f(x) = xe^x.$$

**2** Consider the sequence  $(a_n)_{n=1}^{\infty}$  for which  $a_0 = 1$  and for all  $n > 0$ , then  $n$ th term is obtained from the previous one by adding  $1/n$  to it. So, for example, the first few terms are

$$a_0 = 1$$

$$a_1 = a_0 + \frac{1}{1} = 2$$

$$a_2 = a_1 + \frac{1}{2} = \frac{5}{2}$$

$$a_3 = a_2 + \frac{1}{3} = \frac{17}{6}$$

⋮

Determine whether the sequence  $(a_n)_{n=1}^{\infty}$  converges.

3 (a) Show that  $\sum_{n=1}^{\infty} \frac{1}{n(n+1)}$  converges, using the comparison test.

(b) Find the exact value of  $\sum_{n=1}^{\infty} \frac{1}{n(n+1)}$  by calculating its  $N$ th partial sum and taking a limit of the resulting expression as  $N \rightarrow \infty$ . Hint: check that  $\frac{1}{n(n+1)} = \frac{1}{n} - \frac{1}{n+1}$ , and then use that identity to write out the first few partial sums, looking for cancellation.

4 Determine the convergence or divergence of each of the following series

(a)  $\frac{1}{1} + \frac{1 \cdot 2}{1 \cdot 3} + \frac{1 \cdot 2 \cdot 3}{1 \cdot 3 \cdot 5} + \frac{1 \cdot 2 \cdot 3 \cdot 4}{1 \cdot 3 \cdot 5 \cdot 7} + \frac{1 \cdot 2 \cdot 3 \cdot 4 \cdot 5}{1 \cdot 3 \cdot 5 \cdot 7 \cdot 9} + \frac{1 \cdot 2 \cdot 3 \cdot 4 \cdot 5 \cdot 6}{1 \cdot 3 \cdot 5 \cdot 7 \cdot 9 \cdot 11} + \dots$

(b)  $\sum_{n=1}^{\infty} \frac{(-1)^n \cos(n\pi)}{\sqrt{n}}$

$$(c) \sum_{n=1}^{\infty} (-1)^n \frac{n}{n^2 + 1}$$

$$(d) \sum_{n=1}^{\infty} \frac{e^n (n!)^2}{(2n)!}$$

5 (a) Suppose that  $p$  is a real number. Find the fourth-order Taylor polynomial of  $f(x) = (1 + x)^p$  centered at  $x = 0$ . Express your answer in terms of  $p$ .

(b) Use your answer to part (a) to find the fourth-order Taylor polynomial of  $g(x) = \frac{1}{\sqrt{1-x^2}}$  centered at  $x = 0$ . (Hint: first find the Taylor series for  $h$  where  $h(y) = 1/\sqrt{1-y}$  and then substitute  $y = x^2$ .)

6 Suppose that you get to put plus or minus signs between the following terms *however you wish*:

$$\frac{1}{3} \quad \frac{1}{9} \quad \frac{1}{27} \quad \frac{1}{81} \cdots$$

So if you put all plus signs, you'd get  $\frac{1}{3} + \frac{1}{9} + \cdots$ . If you put all minus signs, then you'd get  $-\frac{1}{3} - \frac{1}{9} - \cdots$ . (In addition to these two, there are many, many other ways you could fill in the signs).

- (a) Show that the resulting series is absolutely convergent, regardless of your choice of signs.
- (b) Show that it is not possible to fill in the signs in such a way that the sum of the resulting series is 0.